SFrpid (RS =T B ) (004)

J\FHE/NZ @B P EFRFZIR

AF THE 48 1HE

SEBHRZIZE
MBS 7% mal 56| 78910/ 11/12{13[14/15{16]17(18|19]20|21|22
[N60) [/\PER 35|= 00| 10|~ 25| 25 25| 25| 25| 25(=25 30/ 30| 05 05 10 40
@&: (N63)) [#RIFART B - B KEREH 45|= 30| 30| 55| 55/= bb| b5l 55| 55| 55 5O|=50|= 50| 35 40
50| 55 55 57
[N61] (Rt (\NBtEVF—) wH1m 36= 06] 21| 21| 21 21| 24
@: (N6 |[#RIEART B - B KEEH 1 33
[75] |\F=a—49Yy T 53|t 17 T12
(T: [751) 1B T B H
TREBARZIER
MBS 7% wal 56| 7(89(10[11/12{13[14/15{16]17(18|19]20|21|22
[N60) [/\FER 10| 10| 10| 15| 25| 25|= 25 25| 25|=25 30{ 30 10| 10| 10| 25 00
@: (N63)) |[FRIFAT B - BB KEREH 25|= 25 30| 50f 55 bb| b5l 55| 55| 55w 5b0|= 50 50| 35 40
45 50[ 50
[N61] [hRthiE (\NBEVF—) wQ3(m 12| 25| 24| 24 24 24| 24
@: (N6 |[FRIEART B - B AKEEH w 3b|m 33
[75] |\F=a—49y T 51T 19
(T: [751) 1B T B#H
B BEZIE
MBS 7% wal 56| 7(89(10[11/12{13[14(15{16]17(18[19]20|21]|22
[N60) [/\FER 25| 10| 10| 15| 25| 25|= 25| 25/ 25w 25 30| 30, 10| 15 10| 25 00
@: (N63)) |[FRIEART B - B KEREH 45|= 25 30| 50f 55 bb| b5| 55| 55| 55w 5b0|= 50 50| 35 40
50| 50
[N61] [hRHE (\NBEVF—) w10 05 25 25 25
@: (n61]) AR T B - IR AEEH 25
45
[75) |/\F=a—49> T18
(T: [75]) BT B#H
v R e = AR T H: B ¥ —fm TP =a— AT L AT E (R | 5% THE H 250 0 D54
H A H 2 CHE T L ET,
KBAMB (BHI3E~16H)

FERFELL(12H30B~1H30) X
HOLH % CEITLET,
(FERAFLRITRE, FER £ 2P0, )

FRCRF AT, 1 T ER L T, B R E S CRANZIIZ D OEB B HET O T TRNET, .
RME H DT NT 7Sy M, FOEER T HEIC OV TFIRSNNET DT, T T 7 Xy MBRERSNRNEENTENET,
INFHEARG, BYOMAPR(EAHA) F7T, BRYOMSFRIFT T GEEFEBRERLLAR)




